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Malarkey’s Patios heard about the wonderful job that you did for the Ram-ohz!!!® Cereal company and thought that you might be able to help them out and improve their profit.  Currently, they install two types of patterned patios, each using a different number of tiles.  On any given day, they can produce 1170 octagonal tiles, 846 square tiles, 630 hexagonal tiles, and 576 triangular tiles.  Pattern A requires 13 octagonal, 7 square, 1 hexagonal, and 8 triangular tiles.  Pattern B requires 18 octagonal, 18 square, 18 hexagonal tiles, and no triangular tiles.  No matter what type is produced, the store always manages to sell out each day.  Currently, they produce only Pattern A on one day and only Pattern B the next day.  Pattern A gives a profit of $700, and type B a profit of $900.  Answer the following questions.

1.) If they produce Pattern A three days a week and Pattern B two days, what is the profit?

2.) If they produce Pattern B three days a week and Pattern A two days, what is the profit?

3.) How much is made in two weeks, assuming a five-day workweek?

4.) Fill in the chart below.

5.) Write the four equations that you will graph to solve this problem.

6.) What is the equation for profit?

7.) What is the point at which the maximum profit is achieved?

8.) What is the maximum profit?

9.) What is the maximum amount that you could make in two weeks?
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